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This is what your child will be taught as part of the
GCSE higher course in Year 10 in their MATHS lessons.
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Cross Curricular Lessons

They will have also have specific lessons
linked to other subjects and a diet of
retrieval built into their lessons.




In Year 10 Module 1 your child will study . The two
topics are:

Transformations and construction (bounce back)
Equations, quadratics and inequalities
Probability

Multiplicative reasoning
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Transformations
& Constructions

In this Unit students will learn
- Reflections
- Rotations
- Translations
- Enlargements
- Describing transformations
- Bearings
- Constructions
- Scale drawing
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: Rotate: a rotation & a circilar movement

| Symmetry: when two or more parts are dentical after a transformation

| Regubar: a regular shape has angles and sides of equdl lengths

: wariant: a point. that does not move after a transformation

| Vertex: a pont two edges meet

| Horizontal from side to side

: Vertical from w to down

I



Equations & Quadratics

In this unit your child will study:

- Solving inequalities

- Expanding double brackets

- Solving quadratics by factorising

- Solving quadratics using the
formula

- Completing the square

- Simultaneous equations - linear and
quadratic
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Step 1: Find factor pairs of -16. Since -16 is negative, the
signs in each binomial factor are different.
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Probability

In this Unit students will learn
- Basic probability
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- Constructing and using
sample spaces

- Frequency trees and
probability trees

- Venn diagrams & set notation @=—-——"—"—"""""""""""="~"="—————- d
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Multiplicative reasoning

In this unit your child will study:

- Direct proportion

- Indirect proportion

- Percentage increase and decrease
using multipliers

- Compound interest

- Compound measures
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e recommend pupils have a Casio
scientific calculator.
The Casio calculator featured is the one
e use when demonstrating in lessons.
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On our school website there
is a calculation policy
showing the methods we

use for common operations.
It can be found at:
Our School > Policies

St Joseph's Catholic Academy

Calculation Policy




